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NATURE STUDY AND SCIENCE, part whicb grew out the present yearl which grew

out last yearl' which grew out fret in 1899? _

JoHN BRITTAiN, NORMAL SCHOOL, FREDEItICTON. 16. Which jn the oldest end which the youtagest of

thes layers of wood 1 and how long ie each layer l'

An Autunin Lesson on the Branch of a 1. When the leaves aie alternate, as in the aider,

Decidonl ree.holwi many bude arie at eaoh node 1 How many

Eac puil s povied ithtwobrache, a le.qtbra4ches?

Eachpupl i prvidd wtb to bancesat esa bI When the leaves are opposite-two at one node

two yeare old, bearing smaller branches-one branch in~ the maple,, how many branches usually ariae

alternate-leaved, as the'aider, and otie with opposite

leaves, ai; the maple. Every conclueion reached should f roý one node 1 Wby 1 Account for theý exceptions

be baeed on observed facte, and the reaiions for each 1 lday
119. Show how the leaves are prepared to fall off

etep in the mental procees be fully and clearly 8tated ea1y(ytesak eoigbitea h lc hr

hy the pupile. TLN. thek e eparate from the branch).

OUTLINU0. What V-ould the leaf-buds now on these branches

1. The buds at the ends of the branches (terminal haije become next spring 1 Why do you tbink s8o

buds) and ini the angles (axils) above the leaves (the ~OTE.-On the speckled aider, in autumn, may ho

axillary buds) are noted. fol id the bude of next year's staminate catkine (the

2. Find where the terminal bude of last year were. 1o4 bue n itlaectie<h m~, undeveloped

Tell how to/find theni, and those of the year before bu s).

that (1899>.

3. How mucli each brandi increased in length thie AÀ incident in the Life-Bletory of T-Wo SnakO«.

year-latit year. 
hefollowlng observations were made by Mir. Xatthew Ih'ffv, at

Do e Post lffice, in Quies Caunty, N. B., where ho wss tascMng

4. Note what the parts of the branch which grew Bce')

out this year bear (leaves and buds) which are n t .Mrhlsa redadIcane ofn w

borne by the parts which grew last year. enu kes in a spring of water. We placed one of them

5. Why is it that the leaves and bude are borne on~ the snow ; and, as the evening wasa very cold, it aoon

oniy on the parte of the branches which grew this year? bëame quite stiff-so etiff that I was afraid to bend it,

6. Find *here the leaves and buds ueed to be on lei t it might break.

the parte of the stem which grew last year. IThe other enake wp hung up on the 11mb of a tree.

7. Show what last year's terminal bude became T ie next morning it was perfectly rigid, and could not

(continuationt; of the branches, bearing foliage-leaves>, b4 taken clown without breakiný. But about noon it

and what last year's axillarýy bude became (branches tlj awed, and when it was placed in the spring it becamne

bearing foliage-leaves). 
1q$iite lively.i&

8. Althou'gh these buds, both axillary and terminal, The tiret enake, which had been on the snow all night,

are called leaf-buds, show that they do not develop ino~ as apparently quite dead in the morning. Wben laid

l-aveg, but into branches (or continuations of the tm n )oiî the witter, ice formced' on it at frnit, but before.

or branches) bearing foliage-leavês. 
ni ght it also revived.

9. Show that tl.cie &puet no bud8 which become 1 have found snakes in rotten loge in the.winter

leaves only. 
r vive in the sanie way. Surely the life of these animala

10, Why are there no leaves ôni the parts of the cjtnnot depend upon the circulation of the blood.

branches which grew ou yas ear, orin years before lat Qîtetions for betober.

ila" Whr r crlf b hs evs o (on the Dispersion of Seeds.)

11. her ar scrsle!t bythoe lave, t ho (A rIser to thlwse questionsi abould be sent ta the editor af tbis deparU

found ? 
ientbythe miîddle of Navember

12.* Find how mucli the branch increascd iii length 1. Find two trees which have wingedfruii ( a wing

this year-last year-and (if the branch je three years is a thin flat extension), and inake a drawing of eacl

13. How can you tell wlîere each year's growth (iii )2, Find two trees, or other plants, one naked-eeeded,

length) egins an endse 
other covered-eeedI, which beaf'- winged ed

14. HIow do you account for the greater thckes akea0 aigoec ed

(diameter) of the branch at the base than at the top 1 3. Mention tbree planta whioh einploy pauaingi

15. Find how many layera of wood there are in the inimalo'to transport their medi. Fiud and etate what


